WMRETEE B R ARER EIKR GBE3ERM)

ABREREE LR 375 ZREW | #AEK | FF
REYLE 5 1
1 —REHE FREEEE) |EE 0 - 50
0 = 0 —
! |-nEBRREoESHBEERSD) 12 2 6.0
gé — BT (AT VE R %) 2 0 —
BT (K2ZF) 0 - -
R ffrhs (K2ZF) 0 - -
REYLE 13 2
SF6FEE —REBH FREFEEE) |Ex 1 0 8.0
= 2 0
4 |TEEBB(RREXFRBERRE) 9 2 45
{ — AR S R SE B R IR AR ER ) 0 - —
i3 [~ BREHEEANERR) 0 - —
M (s i (R2%) 0 _ _
T R (KZF) 0 - -
R"EL 1 1 1.0
EEXELT 7 1 7.0
ABREREE LR 375 ZEREW | #FAEK | FF
— AR E S (KRB EEHERRE) 6 2 30
— R E TSR FEALE T R) 0 — -
e | R SRR THE (K ZE) 0 - -
1 | EARBATHE (KZE) 1 0 -
= KEZELE 33 1
—REHH FREEEE) |EE 5 0 235
SHSEE ks ° 1
REYLE 4 1
—REHEFREEEE) |EE 0 - 40
- = 0 —
2 [—EEB(RECEERBERRE) 3 1 30
= —EEHEEENAVERR) 1 0 —
BT (K2F) 0 - —
R ffrhs (K2ZF) 0 - -
AEREREE HEmE ZHREYR | #RAEH | fB&F
—EEHR (EALEXR) 1 0 —
- BT (K2ZF) 0 — _
1 | KRBT (KZE) 1 0 -
: R 2 1 20
REL 4 1 4.0
REPL 26 3
SAEE —REBE FREEESE) |EF 8 0 1.7
=mE 1 0
'?‘f —REHE (REEEEHEERE) 16 1 16.0
@ |—REHRCESNERR) 2 0 —
BEERATE (K2F) 0 - -
T RERAiTE (KZR) 1 0 —
R {2 Em 5 1 5.0




